CS (Main) Exam,2021 P

amET 7g994 / GENERAL STUDIES
T94-9A 111/ Paper 111

Reffa aa @ @7 a2 fersan 3 250
Time Allowed : Three Hours Maximum Marks : 250

oAU wraeeft favie srgew
FUAT T & I 37 B G G T AT H SATGAE TG
P & 97 Iew 70 & Sl fg=gt Sik siaelt @ 7 w9 gu & )
&4t w77 S & |
Yo 59/ 971 % fere (59 o7 3a% am e 7e 8 |

yol % I 3H) Wifeea qrem § for@ 77 ke g 3g@ s yav-va 7 fEar mar 8, ek 37 areym @1
T I JoT-HE-IH (9. 91.8.) IETH & §E@-y8 W e T | BT T T30 | g are %
St 7= fasdfl wrem & for@ e 3T W FE 3 T8 A |

97§11 & 10 7% 7 I 150 91551 7 77 I97 G4 11 & 20 % &7 I9v250 51 7 o /|
X991 § 3 vrag Sar F € § W& |
YH-HE-IR (. 91.0.) giEaw 7 @Il 918 79 Fi3 g3 37eaT g3 & YT 1 gl Hie e |
Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

a6 Fhel =W I9g (ShAA) & o 2015 F @ qun 9 2015 & 9=
uftehe fafy # s it samen hifsw | (150 wsai | I &)

Explain the difference between computing methodology of India’s Gross
Domestic Product (GDP) before the year 2015 and after the year 2015.

(Answer in 150 words)

Yl Sofe d1 USE F9e % WEd A= T HINU | 3 gHEI woiel % HueH! i
TaFTET | (150 vregi # I i)

Distinguish between Capital Budget and Revenue Budget. Explain the
components of both these Budgets. (Answer in 150 words)

5 FD W § g gunl 7 v o oy feael ) amie-enfde ey @
gura % fore fora yer wemar 1 2 2 (150 Wil § 3w i)

How did land reforms in some parts of the country help to improve the
socio-economic conditions of marginal and small farmers ?

(Answer in 150 words)

A % 5T Hohe o qUIH #, geA-fiens F4 i foem dm q% wEEes anft 2
(150 Ireai # 3T 2iforo)

How and to what extent would micro-irrigation help in solving India’s water
crisis ? (Answer in 150 words)

S-400 gaTg &n soneht, fova # 3@ aww Sueiey o fepelt woneft Y qern § fRw
T B qehIeh €9 & 953 B ? (150 Ireal § IR Sifo)

How is S-400 air defence system technically superior to any other system
presently available in the world ? (Answer in 150 words)

T, 2021 ® @ fava & Aaret & fret awem § e 26 g U
SAary gitadd Fe |, ey 6 8 Bfa fire vee w1 wiee T Hifvm |
FSE TR TesYH (318.04.U. ) # 98 foam ygelt s e feam mam o 2

(150 regi © 3w 2ifsrm)
Explain the purpose of the Green Grid Initiative launched at World Leaders

Summit of the COP26 UN Climate Change Conference in Glasgow in
November, 2021.

When was this idea first floated in the International Solar Alliance (ISA) ?
(Answer in 150 words)
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Q7. fave W de (sseq.wd.30.) g ' & # 9 fohu u wwifua aftew ar
i feefAeEn (T ht.) % e fargedt @ avfa Hifse | o 2005 % s &,
3 fobm v it ® 2 57wl gkl b T wE % o, wra % T @ Ay
HRishH | fohe aftad-i 1 sTavaehdr 8 2 (150 el § 3w dfvw)

Describe the key points of the revised Global Air Quality Guidelines (AQGs)
recently released by the World Health Organisation (WHO). How are these
different from its last update in 2005 ? What changes in India’s National Clean
Air Programme are required to achieve these revised standards ? 10

(Answer in 150 words)

Q8. YFY HaTUd Hehel o fo1C YR 61 Weran i fagwmn Sifse | o &= gl §, wra
% faftm wrn # @ g 3 o e F 3o e fasivaet ¥ @y
@ifre | (150 wegl & 3w EifSre)

Discuss about the vulnerability of India to earthquake related hazards. Give

examples including the salient features of major disasters caused by
earthquakes in different parts of India during the last three decades. 10

(Answer in 150 words)

Q9. ==t Fifsw & form yopr 3wt drenififerat ot dvdiemor ot @ifen & arem #@
7 | U 3R s gl Tl W ot At 1 Tmen @ fed & fore fop s
el 39T I faaR @ |HemsT | (150 wsal | 3 &)

Discuss how emerging technologies and globalisation contribute to money

laundering. Elaborate measures to tackle the problem of money laundering
both at national and international levels. (Answer in 150 words) 10

Q10. ¥RA HI F=IRH &1 HI F § Tad Y, HW-I9X ¥ &4 GTel WEH gHedl & gwWE
1 fovetwor i | wg A, 7 oftpa awal & fovg wers suEi i ==l
Hifw | (150 vregt ® I difo)

Keeping in view India’s internal security, analyse the impact of cross-border

cyber attacks. Also discuss defensive measures against these sophisticated
attacks. (Answer in 150 words) 10

Q11. 1 39 HeHd B fob WRdE srefegaean 3 g0 & § V-3TR & [Hocd™ 1 A
foham 2 2 R wfga s ST i gfte hifSig | (250 weal § 3w @fo)

Do you agree that the Indian economy has recently experienced V-shaped
recovery ? Give reasons in support of your answer. (Answer in 250 words) 15
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

“Hraren wa st ol "afg & fom snanfe-s@am | faw smawas 2 17
W e o qide # faa=m Hifse | (250 wset § 3w difsw)
“Investment in infrastructure is essential for more rapid and inclusive
economic growth.” Discuss in the light of India’s experience.

(Answer in 250 words)

s @ geen sAfufiEm, 2013 6 g favand # € 2 @ gean ages 4 wwa
g qYT FUIEUT I G B | HE THR TERAT H 2 ? (250 weqi H I i)
What are the salient features of the National Food Security Act, 2013 ? How

has the Food Security Bill helped in eliminating hunger and malnutrition in
India ? (Answer in 250 words)

s fafauar & gue diser gAifaal @ 8 2 3wt srenfifral waa fafqaa & fog
forE TR 37aE YEH U & 2 (250 Weal | I )

What are the present challenges before crop diversification ? How do emerging
technologies provide an opportunity for crop diversification ?
(Answer in 250 words)

I At § Ny qur famm-areed syafert @ € 2 3 Iuafert gur
& faeda ot & e o form TR weTs Bl 2 (250 wrsal H I i)

What are the research and developmental achievements in applied
biotechnology ? How will these achievements help to uplift the poorer sections
of the society ? (Answer in 250 words)

Ty 2014 # siifaes fasmm & o QPR G ©9 A T, T qUT ATHHU i
1990 % 2% # Hieft ©er.3.€1. & anfashr & fore wem fomn mn o | 38 snfasew A
HHa-S1Td & eAfed Sfied o1 fopm wer wwifaa foham 8 2 (250 wisgi § 3w &)

The Nobel Prize in Physics of 2014 was jointly awarded to Akasaki, Amano and

Nakamura for the invention of Blue LEDs in 1990s. How has this invention
impacted the everyday life of human beings ? (Answer in 250 words)

Teh ¢ o] qiteda $Heas e (2.07.u%. Hdf i) & =Handt. & 263 79
% yg@ gl w1 gvia HIfT | 38 geE § g grT 6 T8 SeHEgan @ 8 2
(250 wreai ¥ 3 Eif)
Describe the major outcomes of the 26t session of the Conference of the
Parties (COP) to the United Nations Framework Convention on Climate

Change (UNFCCC). What are the commitments made by India in this
conference ? (Answer in 250 words)
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Q18.

Q19.

Q20.

ywger % fafim sron ot wwal 1 avlw Hife | o yooees Sifen wE

wiHifd % HEwaol Heehi 1 Ioorg HIFT | (250 weal # I difdw)

Describe the various causes and the effects of landslides. Mention the

important components of the National Landslide Risk Management Strategy.
(Answer in 250 words)

Wid bl AR g % fou s o s sy ekl g sega sgammh
At w1 v HifSe | 3 dwel #1 gwmen 0 F R smavas et f o
==t T | (250 &gl # I &)

Analyse the multidimensional challenges posed by external state and non-state

actors, to the internal security of India. Also discuss measures required to be
taken to combat these threats. (Answer in 250 words)

Adsharg i Sfeerar 3R i, 395 HRON, Traedl qon Af™ TS w1 faverw

ST | ATahaTg & TR F I & AT IS 94 a1t Iurdt 1 st gama A |
(250 wregf # I ifo)

Analyse the complexity and intensity of terrorism, its causes, linkages and

obnoxious nexus. Also suggest measures required to be taken to eradicate the
menace of terrorism. (Answer in 250 words)
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